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Differentiate the following:
1) 
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Find the gradient when x = 2
7) 
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Find f’(3)

8) Find the gradient of the tangent to y = 2x3 + 3x when x = -1
.     Find a point, given the gradient    .
To find the point(s) given a gradient we:
Differentiate, and solve for x
1) Find the coordinates where the function
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   has the gradient of 2

Derivative =

Find x where f‘(x) = 6


Substitute this ‘x’ value back to find the ‘y’ value to get coordinates (x,y)

2) Find the coordinates where the function 
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     has the gradient of 9


Derivative =

Find x where f’(x) = 9
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